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FRUCTION: ANSWER ANY THREE QUESTIONS: All QUESTIONS CARRY

EQUAL MARKS

QUESTION ONE
l a. / o i / Tlceg OO . !
a. A company makes three products and has available 4 workstations. The production time (in

minutes) per unit pr o qes fr Jectati - .
) per unit produced varies from workstation to workstation (due to different manning

levels) as shown below:

j Workstation

[ 1 2 3 7

/ (1 |5 7 4 10
| Product 2 |6 12 8 15
( '3 |13 14 9 17

Similarly the profit (¥) contribution (contribution to fixed costs) per unit varies from workstation

to workstation as below:

.‘r Workstation
j»‘ 1 |1 2 3 4
| [1 |10 8 6 9
Product [2 |18 20 15 17
[3 |15 16 13 17
lable at each workstation how much of each

If, one week, there are 35 working hours aval
product should be produced given that we need at least 100 units of product 1, 150 units of
late this problem as an LP. (NB. Stop at only the

product 2 and 100 units of product 3. Formu
formulation of problem stage. Do NOT proceed to solve graphically)

(18 Marks)

1b. A time scries typically has four components. List them. (5.3 Marks)



QUES’['I().\‘ TwWo
2a. List sy [0) steps in decision making (6 Marks)
2b. Givep the equatjon Y =156 4 10x,
2¢. Like Ay other businegs d
1Ny cntory contro] ¢
i Oz'dcrmg (Repl
il Holdmg (L“;ﬂ‘l'_\'iﬂg
i, Stock oy Costs
iv. Lead Time
"

lorecast for years 2 to 10 (9 Marks),
CeIsion vVartables there

feories. Explain the thmvmg
acement) Cogts

are some of concepts associated with
mvcnmry concepts (8.3 Marks):

) Costs

- Economic Ordering Quantity (EOQ)
¢ Bateh Quantity (EBQ)

Vi, Econom;

QUESTION THREE

3a. Consider the fol]

owing finjte popul
Calcul

ance and the Stand

ation that |

nas these observati
atethe varj

ons: 2,4 6, 8, and 10
1is population. (7 Marks)
1, 2,3} and Y s {2,3, 4,
¢ Intersection of two sets if A Is {1 '
and B. (2 Marks)
(ii). Find t)e complement of 4 cvent if t]
4.5} (2 Marks)
3e¢. What is the probability that 4 card tak
3d. What are the meagyreg of centra] tep

1€ sample space js {1,2,3, 4,5, 6, 7}, and B is {2, 3,
en from a standard dec ig an Ace? (5.3 Marks)
dency? Explain with th

eaid a graph. (5 Marks)

QUESTION FOUR

ain chemica] Were made in order
re:

Temp Oc 0 10

20 30 40
Specific Heat 0.51

0.55 057 0.59 063

Estimate the regression line of specific heat on tem

perature and Interprets th
predict the valye of the speciﬁcheat %!

€ result, thep
1€ temperature ig 250¢, (16

Marks).

1en t]

4b. Compute

the coefficient of determinatop (R-squared) and find e unexplained variation,
(7.3 Marls)



